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Piloted Ignition of Gasesg
 Ignitability of fuel/oxidizer gaseous mixtures is frequently characterized by lower and upper 
flammability limits (LFL and UFL).

 These limits are usually expressed as the minimum and maximum volumetric fraction (or 
concentration) of fuel in air capable of propagating self‐sustained flame.

 The underling physics of these limits is associated with a competition between energy and 
active species (radicals) production in combustion reactions and energy and active species loss 
due to diffusion and radiation.

 The limits are typically measured experimentally using the Bureau of Mines Flammability 
A tApparatus.
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Piloted Ignition of Gasesg
*

* SFPE Fire Protection Engineering Handbook



Flammability Limits and Stoichiometryy y
For most simple hydrocarbons:
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LFL of mixtures (Le Chatelier’s) rule: Each gaseous fuel contribution to flammabilityLFL of mixtures (Le Chatelier’s) rule: Each gaseous fuel contribution to flammability
is equal to the faction of its LFL.
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Ignition of Liquidsg q

Vapor‐Air Mixture Application of igniter 

Premixed
flame

Liquid Increase in liquid surface
temperature

Increase in fuel vapor
concentration
(controlled by thermodynamics)

Does the concentrationDoes the concentration
reach LFL?

No

No ignition

Yes

No ignitionFlash point



Ignition of Liquidsg q

Vapor‐Air Mixture Flash point

Premixed
flame

Liquid

Does the liquid produce enough gaseous fuel during 
the time between flashes to create UFL mixture in the

b it f th i f th fl hi

No

space above it of the size of the flame quenching
distance?

Yes

No ignitionPotential transition to sustained 
diffusion flame ‐ fire point



States of Pure Substance



Second Law of Thermodynamicsy
Spontaneous process:

A function of state that defines randomness of a system is called entropy (S)A function of state that defines randomness of a system is called entropy (S).

,ln NS  where N is the number microstates comprising the system.
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Clausius‐Clapeyron Equationp y q
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Clausius‐Clapeyron Equationp y q
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Clausius‐Clapeyron Equationp y q
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Application to Ignition of Liquidspp g q
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Application to Ignition of Liquidspp g q
a
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Application to Ignition of Mixturespp g



Application of Raoult's law (the ratio is 
molar fraction in liquid mixture)
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Burning Rate
Burning rate – the rate of mass loss or heat release per unit surface area of
condensed‐phase fuel.

qin T

Steady‐State Burning of Solid or Liquid:
Tqin
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For steady‐state to exist, x kg of fuel must be heated from Ti to Tp and vaporized during t:
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- hfg may represent heat of decomposition or vaporization;
- Tp may represent pyrolysis temperature or boiling point. 
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Burning Rate
Burning rate – the rate of mass loss or heat release per unit surface area of
condensed‐phase fuel.

qin T

Steady‐State Burning of Solid or Liquid:
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Pool Fire Analysis
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*Figure from Quintiere, Fundamentals of Fire …



Case Study*

Questions need to be answered:

*From Quintiere, Fundamentals of Fire …



Case Study
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